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IV.. The following data are based on the published statements of. two companies in
: B

the same industry: A
Sales.......... R eveea 1,500,000 4 500 000
Cost of Goods Sold...... et eevvieees 950,000 2,500,000
Operating Expenses, including Interest of $4,000

and $54,000. Respectively..................... 200,000 1,000,000
Income Taxes................... e eeecneseenas PR 120,000 400,000
Net Income........ e bttt e 230,000 600,000
Current Assets.................................,‘ 500,000 2,000,000
Long-Term Investments................... eeereene 200,000 -0~
Plant and Equipment.................... ... .00 2,800,000 7,000,000
Accumulated Depreciation........................ © 500,000 3,500,000
Current Liabilities..................oooomonnoo’ 450,000 1,100,000
Long-Term Liabilities....................;...... 50,000 900,000
$10 Par Value Common StocK. ' iiiiiiiinnnnnnnnn.. 1,200,000 2,500,000
Retained Earnings................. et e ie e, 800,000 1,000,000

REQUIRED:
. Which company has the greater liquidity on the basis of ratio analysis?
. Which company is earning more on total assets?
. Which company is earning more for stockholders?
. Which company is gaining from financial leverage?
Which company has the greater return on sales?
Explain how the results of 2 and 3 can be opposite from the results of 5.

(184)

V. Assume that Earth Resources, Inc., has a complex capital structure and that

the following occured regarding its common stock: T

Jan. 1, 1,500,000 shares were outstanding.

Apr. 1,200,000 additional shares were issued.

Sept. 1, 3,000 shares were acquired for the treasury.
Net earnings for the year were $l,033,500, which included an extraordinary
loss of $208,000. Dividends were declared on the common stock in the amount of
$75,000 and on the preferred stock in the amount of $40,000. Earth Resources’'.
accountant determined that common stock equivalents would amount to 20,000 -
shares. If common stock equivalents were convertedjinto common stock, $30,000
in interest expense would be saved each year. Calculate primary earnings

per share, '(\78)

VI. On January 1 of the current year, P Company acquired a 80% interest in S '
Company for $900,000 in cash. The balance sheets of the companies immediately
prior to acquisition were as follows: . :

o\ Ewn e

. . . P S
Cashivvuiininnnnnun... $1,100,000 $ 100,000
Accounts Receivable..... . 800,000 200,000
Inventory................ 1,400,000 300,000
Plant and Equipment...... 3,800,000 500,000
Total $7,100,000 $1,100,000
Accounts Payable......... $°800,000 $ 100,000
Long-Term Debt........... 300,000 200,000
Common Stoak...... e 4,000,000 600,000
Retained Earnings........ 2,000,000 ~_ 200,000
Total 7,100,000 $1,100,000

REQUIRED:

. What will be the amount of common stock reported on consolidated statements
immedlately after acquisition?

. What will be the balance of the Investment account on the consolidated :
statements immediately after acquisition?

. What amount of cash would be reported on the consolidated statement?

. What is the excess of cost over book value?

Assuming that the fair market value of Sts Accounts Receivable at acquisitig
was $200,000, Inventory was $300,000, and Plant and Equipment was $540,000,
describe the treatment of the Excess of Cost Over Book Value account

on the consolidated statements.
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